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fEEIATSE  E%EHM REXRR RER
e 5 ) it HEE aE HE |uw  HE s | wEs | aE | mE || #E
RIRFMER (Keh ZAER) EiI& 1B Pyt 500( {& &t 600 kg
FEHh HEE g HE |Eal  {FE iR Yy1hst 100| & 2,650 {&
pay-3 37T|EHN [TV EVIOR-Y| 3,800 [ 2485 K3 ) 14% &
5RKEA [PV EVa35YR [ 4,000 fE [01BEE2 Ha bva, HiRM 800| f& = a
5 7.800 @ PrT 315 NS DERL)S 50| & tRRR S / FASEERr
— ‘ REA [53=4 gﬁﬂ 150 12 —
RREUR @EW x5 |®E NI EEAA | 100 @ E% | mwE Al E el s
FEHh HEE g HE |Eal  {FE KiR NF4h5 50| @ ;7.8 RES =44 5,000 #&
3] fiftE s £t 113k 250( {& E1in:: 3 w754 100| 4@ B4t BTV 450( #
B Yy KFMIv4k 500( {& W THERTYY |FREIL15 50| {& BEREN [Avta95  |Fhun'F 650| &
all )il & BB 1EIR EVES 2 # =345 252 150| &
FE i N YN A5k & E kg Eigs Wnst ENTYT 200( &
ERB T 7Y 15k & 1,900 {& Ra5n Rl #1575 300| &
Lk 50| {& BEN REMS | HEFS 400| kg
TvHN 15k 100| & . 5 400 kg
)il & ARR 1,300 &
RIF wmwIys [TV & Ei HEE ki H=E | HE 5,450 %
&t 900 & FiF EIEHE BT 50( ke
Kig B ETRS 200| kg s
EigeE R 452 EAR R, BT 200 kg R
B4t BAR'E, 425t 300| ke Ei HEE ki = Bt {HE
Eit HErE sl = |l {FE IMEE L7451 300| kg HEB] N HE I 700| kg
RI& & Y)4h, h7 5 100| {& & ETHY 50| ke e 100| kg
kAR FLY. EFRHH 100 {& Wk BEMNIY 100| kg R E=H5 s 300| kg
= FRAYH 700| {& hE EESR EN75° 44 50( kg EE 5N AES &= w
¥ 5 100| {& b, EE FEAR RS 100| ke s¥va5 BRSNS 1,500 #&
AR YU4h, K1hst 100 {& = Fichi: AETA AV 15 100 ke REZA 4 =HN THY 500| kg
[EFiT ) S L T = 77 § 200| {& xR FEETA M0 H 800| kg iEst AXES |EIir 100| ke
K ALY, Yo 100| {& 100 B4 M08 300| ke FES B P! 150 ke
KBS YU1h. 794 100 {& "mE AT 100| ke BE WS =L =3 ke
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=z 100| {& 1,500 &
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B b2 kg = WET) 200| &
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